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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
Then mark the correct choice on your answer sheet.

Linguists sometimes use the terms analytic and synthetic to describe ---------- morphology is
made use of in a language.

1) which degree of 2) the degree to which

3) to degree of which 4) the degree that

Grammatical elements (both function words and inflectional affixes) are not translated
directly, ---------- rendered by grammatical-value labels, generally in abbreviated form.
1) however 2) they are 3) to be 4) but are

While we certainly don’t know everything there is to know, ---------- , at this juncture we

are in a position to do far better than the language-as-instinct thesis.

1) there is even a fraction of everything  2) which even a fraction of everything

3) or even a fraction of everything 4) by even a fraction of everything
----------- and drawing on cutting-edge research, The Language Myth sets out a forceful
alternative to the received wisdom, showing how language and the mind really work.

1) Compellingly written 2) Writing compellingly

3) To be compellingly written 4) By writing it compellingly

PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the
sentence to be correct. Then mark the correct choice on your answer sheet.

To discover the nature of this Universal Grammar whose principles characterize all
1 2
human languages is a major aim of linguistics theory.
3 4
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6-  Whereas self-determination theory addresses students’ perceptions of their level of
1

autonomy, competence, and relatedness in a given activity , and self —regulation theory
2 3

is concerned with what students do to generate and sustain their engagement.
4

7-  As our primate ancestors’ need to stoke the energy-consuming organ in their skulls
1
with  nutritious, calorie—rich fuel created selection pressure favoring features
2 3

now characteristic of primates.
4

8-  Conventional paleoanthropological wisdom holds that the first humans had left Africa
1 2

were tall, large-brained people equipped with sophisticated stone tools who began
3
migrating northward around a million years ago.
4

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
Then mark the correct choice on your answer sheet.

9-  Computers cannot precisely foretell climate change unless the mathematical equations

fed into them ---------- capture the natural meteorological processes they are aimed to
simulate.
1) indiscriminately  2) sufficiently 3) complacently 4) metaphorically

10- The judge ---------- his appeal, allowing the original verdict to stand.
1) expatriated 2) deliberated 3) settled 4) dismissed

11- Whales that surface too quickly from deep dives may ---------- from decompression
sickness, a sometimes lethal condition that also affects humans.
1) expire 2) deflate 3) recede 4) submerge

12- The crew quarters on the submarine were so ---------- that each sailor was allotted only a
tiny locker.
1) moralized 2) adjoined 3) cramped 4) ostracized

13- Two years passed in this manner, during which I paid no visit to Geneva, but was
engaged, heart and soul, in the ---------- of some discoveries which I hoped to make.
1) track 2) stimulus 3) footsteps 4) pursuit

14- Once ---------- as the surest way to hone your mental powers, brain training software is
now dogged by doubts over its effectiveness.
1) feigned 2) flabbergasted
3) touted 4) proselytized

15- Regardless of the long-winded answers Michael ---------- gave in class, his teachers
remember him as succinct student, rather than a garrulous one, because he generally
kept to himself.
1) consistently 2) paradoxically

3) superficially 4) tendentiously
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16- To call the area bucolic was perhaps ---------- ; while it was quaint and abstracted from
the modern life of nearby cities, the presence of mining equipment was decidedly
imposing.

1) unblemished 2) hyperbolic 3) calculated 4) mirthful

PART D: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each blank. Then mark the correct choice on your answer sheet.

Optimists are no longer alone in promoting “mind over matter.” A compelling study
claims there is chemical credence for the placebo effect, (17) ---------- '

University of Michigan at Ann Arbor neuroscientist Jon-Kar Zubieta, who led the
work, says that people produce a natural painkilling chemical in the brain when they
expect to experience (18) ---------- . Researchers gave test subjects a slow, long,
harmless injection of a pain-inducing salt solution into the jaw. When the injection
began, the subjects were asked to rate their level of pain. As it continued, the
researchers said, (19) ---------- , that they had just added pain-relieving serum into the
solution. Subjects were asked again to rank their (20) ---------- X

Throughout the episode, subjects’ brains (21) =-==------ . It showed that in people
who said they felt less uncomfortable, (22) ---------- painkilling endorphins right after
the placebo was promised. The people who expected to get relief actually produced it.

17- 1) and at least masks pain
2) by making pain at least
3) at least in masking pain
4) and through which at least pain is masked

18- 1) unconsciousness 2) relief
3) deliverance 4) anesthesia
19- 1) implicitly 2) apparently 3) impassively 4) falsely
20- 1) discomfort 2) vigilance 3) satisfaction 4) objectivity
21- 1) they were scanned 2) were scanned by
3) while they were scanned 4) were scanned

22- 1) the brain was produced in particular regions
2) in particular regions of the brain produced
3) particular regions of the brain produced
4) and they produced in particular regions of the brain

PART E: Reading Comprehension

Directions: Read the following two passages and decide which choice (1), (2), (3), or (4) that
best answers each question. Then mark the correct choice on your answer sheet.

PASSAGE 1:

Like most people, students tend to be overconfident about newly learned skills. This self-
assessment problem can occur because the common educational practice of “‘massed
training” promotes rapid acquisition of a skill—and self-confidence—but not necessarily
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23-

25-

the retention of that capability. In massed training, instructors teach students in one or a few
intense sessions. Students undergoing such instruction quickly obtain the relevant
knowledge. Yet skills taught in this fashion tend to decay rapidly, although people remain
unaware of this fact. Nowhere might this problem be more evident than in driver education.
Although millions of dollars are spent on such courses, they do not, the data suggest,
produce safer drivers.

Rather retaining knowledge and skills requires a different recipe: “spaced” or
“distributed” training, in sessions that are divided over several occasions—even though this
practice means that students initially learn more slowly and with more difficulty. In
addition, recent research points to ways to correct flawed self-assessment in students. For
example, some scholars have proposed that certain forms of driver education might do more
harm than good, making novices unduly confident about their ability to handle difficult
driving situations. As a substitute, drivers might instead undergo “overconfidence training,”
in which students are shown just how difficult it is to handle adverse road conditions, so that
they proceed more carefully—or just stay home when it is wiser to do so.

Which of the following best describes the organization of the passage?

1) Opposing views are presented, elaborated, and then reconciled.

2) Two competing solutions to handle the same problem are compared and contrasted.

3) A problem is identified, two hypotheses are advanced to resolve it, and both are rejected.

4) A problem with an approach is delineated and an alternative to that approach is suggested
and described.

Which of the following is NOT true about “massed training”, as it is described in the passage?

1) It is students’ most favorite preference for learning a new skill.

2) The skill that students acquire in such training sessions is subject to sort of quick attrition.

3) It can help create a kind of self-confidence, which may not be very long-lasting, of course.

4) It can be used when students are expected to acquire a skill fast to meet an immediate need.

The writer mentions “driver education” in paragraph 1 primarily in order to -———- .

1) prove that “massed training” often turns out to be unnecessarily exorbitant

2) cite an example of a learning program of whose demerits the trainees are unaware

3) lend credence to the claim that “massed training” is not as effective as it should be

4) highlight the need for a case in which rapid acquisition of a skills is demanded by
the stakeholders

Who are recommended to stay home when it is wiser to do so?

1) Incompetent drivers who fail in their first driving test after they have already taken
their driving lessons

2) People who have participated in “overconfidence training” but consider a driving
situation too risky to handle

3) Potential drivers who have undergone appropriate training sessions but are still
overconfident of their abilities.

4) Driving students who already know how difficult it is to handle adverse road
conditions, but are afraid of running the risk of doing so.

PASSAGE 1:

“He’s a vegetable.” The words evoke the image of a human being who lies permanently
lifeless and unconscious. Yet how do we know that such a person’s mind isn’t still intact?
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27-

28-

29-

How horrible it would be if the patient couldn’t communicate yet could understand the
people
standing around his hospital bed, talking about him as if he were dead.

John F. Connolly, a psychology professor at Dalhousie University in Halifax, reported
at the recent Society for a Psychophysiological Research meeting that a range of patients
who are otherwise incapacitated are still processing language. The researchers focused on
a brain wave they call N400, which occurs when someone encounters a spoken or written
sentence that is grammatically correct but semantically faulty. When a conscious person
hears “The pizza is too hot to sing,” an electroencephalogram registers the presence of the
N400 wave during the split second after the sentence is heard. If the person is not
processing language, there is no N400.

Since 1999 Connolly’s group has administered such semantic tests to 25 patients with
severe brain injuries— most recently four people who were so incapacitated by a stroke, a
drug overdose, a car accident and a small-plane crash, respectively, that they were deemed
without cognitive function by traditional measures. Yet when the researchers read bogus
sentences to the four victims, they all displayed some degree of having processed
language.

Connolly says more than half of the 25 subjects have shown N400 activity, but that
may not indicate consciousness as a healthy person knows it. Although a patient studied in
1999 eventually recovered and recounted clear memories of the test, “it is very risky to
make all-or-nothing conclusions,” Connolly says. “Some people may be doing this
reflexively, on a very semiconscious level.”

According to the passage, the N400 wave is likely to occur in the brain of a human being
who lies permanently lifeless and unconscious when is exposed to which of the following
sentences?

1) You can process grammatically correct but semantically faulty sentences.

2) The table in your room is praying for your rapid recovery.

3) You seem to many to have a sort of vegetable life.

4) Your recovery is something next to impossible.

Which of the following CANNOT be understood from the passage about the four people
mentioned in paragraph 3?

1) They were subjected to the concerned test sometime after 1999.

2) They were all test subjects without their own being aware of that.

3) They were incapacitated due to different reasons but to the same extent each.

4) They showed reactions to grammatically correct but semantically wrong sentences.
The underlined word “it” in paragraph 4 refers to which of the following?

1) activity 2) healthy person  3) health 4) consciousness
Which of the following best describes Connolly’s attitude toward the signs of cognitive
function in mentally incapacitated people as they are described in the passage?

1) Uncritical enthusiasm 2) Resigned acceptance

3) Unresolved ambivalence 4) Mild irritation
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PART F: Linguistics

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

31-

32-

33-

35-

36-

37-

38-

39-

A pronoun that is used to point to entities, locating them as near to or remote from the
speaker is called ---------- A

1) demonstrative 2) modal

3) denominal 4) referential

Which one of the following features is used to distinguish L-like sounds?
1) [+continuant ] 2) [+lateral]

3) [+approximant | 4) [+delayed release]

Which one of the following words is created by “Clipping”?

1) “Televise” from “Television”

2) “PIN” from “Personal Identification Number”

3) “Sci-Fi” from “Science Fiction”

4) “Chunnel” from “Channel and Tunnel”

Within the co-operative principles, which one of the following statements is related to
the “Maxim of Manner”?

1) Avoid obscurity and unnecessary prolixity

2) Do not say what you believe to be false.

3) Make your contribution as informative as is required

4) Do not say what you believe to be irrelevant.

Which one of the following terms is used in language learning and sociolinguistics for
the ability to speak two languages with equal facility?

1) Co-ordinate bilingualism 2) Simultaneous bilingualism

3) Plurilingualism 4) Ambilingualism

A slip of the tongue in which two parts of words or two words are switched, is called:
1) Spoonerism 2) Reductionism

3) Reversionism 4) Fanaticism

What is meant by “Interference” in sociolinguistics and foreign-language learning?

1) The linguistic system created by someone in the course of learning a foreign language.
2) The errors a speaker introduces into one language as a result of contact with another language.
3) Those aspects of meaning which relate to the establishing and maintaining of social relations.
4) The process whereby speakers come to possess knowledge of the structure of another language.
Which one of the following statements is TRUE about the properties of “Utterance,
Sentence and Proposition”?

1) The same sentence cannot be realized by different utterances.

2) The same proposition cannot be expressed by different sentences.

3) A proposition cannot be grammatical or ungrammatical.

4) An utterance cannot be true or false.

Which one of the following statements is an “Analytic Sentence”?

1) The boy is his own father’s son. 2) That girl is her own mother’s mother.

3) Alice is Elon Musk’s elder sister. 4) Her sister wants to marry his brother.
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40- In the theory of speech acts, which one of the following definitions is correct?

1) Illocutionary act refers to the production of an utterance, with a particular intended
structure and reference.

2) Illocutionary act refers to an act which is performed by the speaker by virtue of the
utterance having been made.

3) Locutionary act refers to the production of an utterance which involves an effect on
the behaviour of a listener.

4) Locutionary act refers to the act a speaker or writer intends to perform by producing
a specific utterance.
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int Var=0, p=2;
for (x=5; x>3; x=x/2)
for (y=1; y<15; y=y*2)
Var = Var+2"p;
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if A>3 or B>2 and A<3 or B<2

print( 1)
else if A>3 and B<=2
print( 2)
elseif A<=3 or B<2
print( 3)
else
print( 4)
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int func(intn)

{
if(n==1)
return 1;
else
return (n — 1)*func(n — 1);
}
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function fff(x) {
if x==0)
return (
if(xmod2==1)
return 1 + fff(x/2)
else
return 0 + fff(x/2)
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void Print(int x){
if (x <8)
printf(''Message'');
else{
Print(x/2);
Print(x/4);
Print(x/8);
}
}
Print(\#) = &; Print(yy)=4 (v Print (V#) = o; Print(Yy)=A ()
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fori=3to 1
print (N[M]i]])
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while i<N
icitl
print (i)
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for i=-3 to 3
if (2% >= i)
print (“H”)
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